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Section A
Answer all questions in o word or a phrase.
Each question carries 1 mark.

| How much is the percentage of regulation in an ideal rectifier ?
£ Cive the Barkhausen condition for oscillations.
§ How much is the gain of a buffer amplifier 7

T Ficld effuct transistor is a current-controlled device.

# The output impedance of an amplifier decreases when current-shunt negative feedback is used
The clused loop gain of an amplifier is always greater than the open loop gain.

 Usclllators employ positive feedback.
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section U

Answer any five qrucsrmnsj:
. 4.
Each question carries 4 mar

Discuss the input and output characteristics of CB transistor :
s di , of the same ;
What is direct coupling in amplifiers 7 What are the advantages of

20. Draw the circuit diagrani of a phase shift oscillator with labels on the components, Gy,

21.

27.

EH'.-

aL

expression for its frequency,

What are upper and lower side frequencies in AM 7

How does a light emitting diode get its colour ?

Explain 1's complement method of binary subtraction with example.
Why NAND and NOR are called universal gates ?

(Hxd= 20 mrh
Section D

Answer any four guestions.
_ Each guestion carries 4 marks.
Problems—write all relevant formulas, all important steps carry separate marks.

The turns ratio of a transformer used in half wave rectifier is nl : n2 = 10 + 1. The primar
connected to the power mains; 220 V, 50 Hz Neglecting the diode resistance in forward b
calculate the d.c. voltage across the load. What is the PIV of the diode ? <

An RC coupled amplifeir has a voltage gain of 120 in the
either side of these frequencies, the gain falls so that it reduced by
Calculate the gain in dB at cut-off frequencies and 'y 3 db A UhT mﬂ_ﬁﬂhﬂ

also plot the frequency res :
: ponse curve.
A transistor has e = 0.96 and a collector leakage current I, of 1
base curents, when I = 2 mA. Ci) HA. Caleulate the collector ®

For a single stage transistor amplifier, the
If the current gain is 100, calculate the vol

frequency range of 500 to 30 kHe (

collector load js 3 ke
{ and the input resi el
IEEE: gﬂm ni’ Lh'E Hmpliﬁm—_ Pu m‘ |

A water pump is required to turn on automatically
gAY, - Whﬁnﬂu
3 t?m;;;ﬂ::f {: fﬂllh below a pre-set leval, Each water tank i :
Bool i e f’-" :’]::EEE whenever the water level i the ' provided with a luvel dete®
o ean expression for the working of water PUMp whenever g | tank is low, (a) Write down®
mm- o oan expression using AND, OR and NOT gages (o) 150 VOltage turn on, (b} Tnple
imum number of literals and (d) Obyaiy A much Eimpiu::l .RE“_d“ﬂ the Bool s 1
Obtain the output of an Op- : cireujt, i
g;adﬁ.-'nm'l Input mu?nptuf:-: ?ir.df: :‘E the Fullnrwing data, | nputs are U 1 *s g
R=12kQ “R2=3k0andpy. 4 m:av; 0.1V, V2
A camputer is SEANSIUING the folowing gryy o i
detal and hexadecimal listings, 10110119 uunm"'l'““

°r the water lovel in any two or mie

=

0 an gygy T, >
Pt device Give the egi™
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Section E

| 1 " Each question carries 10 marks,

s0n ﬁim&'ﬂhhmghmmﬂﬂm Describe the different mothods of biasing.

: ﬂ' ‘ﬂ; feedback hlmplsﬁmzxphm the principle of negative feedback and discuss

‘map method and its applications. Obtain the simplified SOP and
: _ﬁﬁmnﬁmmr{amc D) =0, 1,2, 5, 8,9, 10) using K map.

(2 = 10 = 20 marks)
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